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INSTRUCTION TO CANDIDATES
Answer SECTION A 2 weeks, SECTION B 3weeks and SECTION C 2weeks.

1. Give two ways archaeologists identify historical sites. (2mks)

2. Give two economic activities of early man during stone age period. (2mks)

3.Give two inventions that promoted Agrarian Revolution in Britain. (2mks)

4. What is the main factor that stimulated the growth of Trans-Atlantic trade? (1mk)

5. Give two reasons why camel is referred to as the ship of the desert. (2mks)

6. Give one disadvantage of using coal as a source of industrial energy. (1mk)

7. State one advantage of horn blowing in the pre-colonial period. (1mk)

8. State one problem faced by Athens. (1mk)
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Answer SECTION A 2 weeks, SECTION B 3weeks and SECTION C 2weeks.

9. Identify one symbol of unity among the shona kingdom.(1mk)

10. Name two colonies of British in West Africa. (2mks)

11. Give one reason the Africans were against the Akidas by German colonial administrators.(1mk)

12. Identify two chartered companies which were used to administer European colonial possessions in
Africa. (2mk)

13. Name one political party that fought for independence in Ghana. (1mk)

14. Identify one weapon that was used during cold war. (1mk)

15. Give the main reason why the league of nations was formed in 1919. (1mk)

16. State two ways the treaty of versailles affected Germany. (2mks)

17. Give two advantages of being a member of common wealth organization. (2mks)
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SECTION B (45 MARKS)

Answer three questions from this section.

18. a) State three negative effects of land enclosure system in Britain during Agrarian Revolution. (3mks)
b) Explain Six disadvantages of open cast system of agriculture. (12mks)

19. a) Identify three modern means of print media. (3mks)
b) Explain six positive effects of telecommunications. (12mks)

20. a) State three reasons that has contributed to the growth of Johannesburg city. (3mks)

b) Describe six social problems experienced by the people of Johannesburg since the end of apartheid.
(12mks)

21. a) Give three reasons it took so long for Mozambique to attain its independence from Portugal.
(3mks)

b) Explain six factors that have favoured the success of FRELIMO nationalists during their struggle.
(12mks)

SECTION C (30 MARKS)
Answer two questions from this section.
22. a) What factors enabled Samori Toure to resist the French colonisation in West Africa. (5mks)
b)Explain five results of defeat of Mandika by the French. ( 10mks)
23. a)What were the causes of the first world war.(1914-1918)(5mks)
b) Explain the results of the Second World War.(10mks)
24. a)State three challenges faced by Pan-African movement. (3mks)

b) Explain six achievements of the organisation of African unity (OAU) since it's formation. (12mks)



